
 

Figure 1: The Credit Market Equilibrium 

 

 

 

 

 

 

 

 

 

 

All the credits go to the Good.     Some credits go to the Bad 
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Figure 2: Phase Diagrams 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

a: (kc  K)     b: (k  kc < K)   c: (kc < k  k* = 1(R)) 
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Figure 2: Phase Diagrams (Continue…) 

 

 

 

 

 

 

 

 

 

d: (kc < k* < k) with the stable steady state    e: (kc < k* < k) with the unstable steady state 

(Locally) Oscillatory Convergence     Endogenous Fluctuations 

K O 

K 

kt 

45 

W(kt) 

k0 

kt+1 

k* kc 

W(kc) 

1(R) 

k K O 

K 

kt 

45 

W(kt) 

k0 

kt+1 

k* 

kc 

W(kc) 

k 

1(R) 

I 

I 



 
     

Figure 3: Parameter Configuration (K < m < K(1/K))
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Figure 4: Pledgeable returns by the Good and the Bad 
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Figure 5: Pledgeable returns by the Good and the Bad in the presence of the Ugly 
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Figure 6: The Good, The Bad, and The Ugly: Intermittency and Asymmetric Fluctuations 
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